ACTEX STAM STUDY MANUAL – 2020
Errata List, by S. Broverman  Updated Jun 20, 2021
Page 752, Example 40.2, second last line, 208,333 should be 166,667

Page 771, 4(b), second last line  1.083 should be 1.087 and 380 should be 397,
 last line  1.343 should be 1.348  and  1544  should be 1561

Page 773, #6 Solution is completely redone, see pdf file
Page 780, #7 Solution is completely redone, see pdf file

Page 781, Example 42-1, (b)(i) solution should be   Y = 150.52+35.35X

  And  C solution should be  150.52+35.53+9.25=477.51

Page 788, #6 line 5 – delete % from 1.24%,

 5th line from bottom should be Dec. 31 (not 21)

Page 790, #5, the table headings for the first table (Loss Ratio Method) should be changed from
Earned Exposure Units , Average Existing Rate, Loss Cost, Avg. Existing Class Diff.

To

Base Rate, Existing Differential, Loss Ratio, New Territory Differential

 The table headings for the second table (Loss Cost Method) 

 the heading Loss Ratio should be Average New Rate 

 and the heading Class Diff. Factor In Territory should be New Territory Differential

Page 791, #6, in first line  2,500,000  should be 3,100,000

Page 795, in the bottom six lines, all occurrences of 
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 should be replaced by 0

Page 797, #3 should read as follows

For each of the four limit categories in Problem 1 above to determine the Increased Limit Factors 
that include a risk charge for limit  defined to be  
[image: image2.wmf]2

()

250,000

LASL

 . The basic limit is 100,000.
Page 797, #5, first sentence should be   

  ILF's are based on the data in Problem 1 above assuming a basic limit of 100.
  Delete the word “issues” in the second line of the question.
Page 798, #3 solution should be
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Page 802, #9, lines 2 and 3  AY1  should be replaced by AY2
Page 818, #31, line 1 should have  I, II, III
 In the second last line and last line  .3636 should be .2667

 In the last line  .6364  should be  .7333  and  .59 should be .5667

Page 827, #9. Final line in table should be
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 and  Total reserve should be 5,610 (not 5,430)
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Page 838, #18, Delete the second and third sentences.

  “We define Y the …” should be “We define the …”  (delete Y)

Page 838, #19, Answers should be  

A) Less than 1.0        B) At least 1.0 but less than 1.2        C) At least 1.2 but less than 1.4


D) At least 1.4 but less than 1.6        E) At least 1.6
Page 839, #21, Second sentence should be

  The loss random variable Y is defined to be a mixture of X with mixing weight  1-q, and 0 with mixing weight q.

Page 841, #32, in line 3 change CY1 to CY2,

In line 4 change 
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Page 847, #18, delete second, third and fourth lines

Page 847, #19, lines 3 to the end should be
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    Answer:  D
Page 851, #32, solution should be 

April 1 is at time 0.25 in CY2. In that case, the triangular region in CY2 beyond April 1 has an area of 
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  and the region before April 1 has area   1 - 0.28125 = 0.71875. Then, the average earned premium for CY2 in this case is  
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  July 1 is at time 0.5
in CY2. In that case, the triangular region in CY 2 beyond July 1 has area  
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  and the region before July 1 has area  1 – 0.125 = 0.875 . Then, the average earned premium for CY2 in this case is
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 The current rate level is  1.1P. The on-level factor for the April 1 rate change is  
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  and for the July 1 rate change it is  
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 .  The ratio of earned premium for CY2 at current rates as of the end of CY2 is  
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     Answer:  C
Page 853, #4, Add the following sentence before the answers

Assume that losses are multiples of 250 and the continuity correction is applied based on increments of 250.
Answers should be 

A) Less than 1.2%     B) At least 1.2% but less than 1.3%      C) At least 1.3% but less than 1.4%

D) At least 1.4% but less than 1.5%      E) At least 1.5%

Page 856, #14, first line should be “… particular collection of risks.”

Page 857, #19, in the first line the pdf should be   
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Page 861, #4,  4th line after the table,  45.125 should be 43.125

Also  last three lines from  “This is …”  should be replaced by

Based on increments of 250, we have
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  1(2.15)10.984220.01578.     Answer:  C
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Page 869, #30, second last line, there should be an  =  sign before 18

Page 872, #7 and #8,  “Calculate the December 31, AY6 reserve” should be  “Calculate the total reserve”
Page 876, #30, line 3 should have   
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